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Note:-

1) All Suggestions are to be sent with reference to website published Question
g8
paper with Provisional Answer Key Only.

(2) All Suggestions are to be sent in the given format only.
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001.  ~Nl2l-u VSl su1 Aomd ol Ao toeus [RABd 530 “oours (¥ Biaoy siegd sy ?
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002.  viouge yollvilawi.......... uHu AN 8.
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003. WA ASAUHL Slaril M3A A8 Bedut .......... Ad 24l ©.
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(C) $5d2 413 D) 1,231 3
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(A) 2uGR B) vlls
(C) [R4) (D) Ris fad
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(A) YR AL S B) Riay
(C) WAUR-I (D) 35
009. AR SAWAAHL VAL AL UUH ... 2901 1 2l Sl
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013.

014.

015.

016.

017.

A2 WS sul HELSIH dAGLS5L HELIMIRA A8 Asda ¢ ?

(A) Gudau 51l wilagu il (B) v dl F3ie cnall

(C) &2 2nual WAL cuuell (D) AHSER AL

SR 3R vl .......... Hidl woll »ud 8.

(A) @2 [Qia (B) ®teun [y

(C) M21alr B8l (D) % dles:A

R Al uaAl g cuidl silll yeusid dldl cu? sul ueda Aodl Ay 52l 8dl ?
(A) R 25¢ auq (B) R[Ris a¥~

(C) i€l adn (D) Gu-iL U4l 518 )

ollg 4H ued el A2 Qs Aldverl N WA suiefl viadl aw €9 ?
1. 2UnS3A HSTA, 22

2. -udel [Qaldenau-l 2w

3. ayely 4 [Bgwor gau [Agiiig xR«
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(A) 8511 (B) $5d 1413
(C) $5d.1 2412 (D)1,2 343

cuRd-l 2umel udai 1A WSl sy 2ol oalg e ?
Lo2§HElE 2,63 3. UM 4. AHDR

PRE
(A) $5d.1 244 2 (B) 512 413
(C) 5514 (D) $5d 2 241 4
[Bed) Acanani gl el w2 .......... 6% QU Sl
(A) Bana-S-men (B) HuLsd
(C) ae-oisil (D) 2ufl
R K
Agl-T (Ram) AEL-TT (6l DAl 82-il)
1. sligol a. grHRAN
2. gAlloR b. AlcHsUA
3. gfadl c. uaH Guea
4. ARUY d. 4ey
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(A)1-b, 2-d, 3-a, 4-¢ (B)1-b, 2-¢, 3-a, 4-d
(C)1-b, 2-¢, 3-d, 4-a (D)1-b, 2-d, 3-¢, 4-a
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A5 AL
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1. 2lMsu wgaan  a. UH i AR [ANadag GuR 2uRq
2. Hueuw b. A oI [Any BuR s1u
3. HYaRIEA c. dGriR tuRAMl AN Agdpd Sdl Ad Aruni i d-l did 52 9.
4. BALR d. Mg A geRdl sl azdlu YHu™AL viddg aein 52 8.
DAY
(A)1-a, 2-b, 3-¢, 4-d (B)1-a, 2-¢, 3-b, 4-d
(C)1-b, 2-¢, 3-d, 4-a D)1-¢, 2-d, 3-b, 4-a

A2l-u WS 5y /sul Qi yZe-l AR/ st A gd/sai ?

1. Rz 402 Yy AU 50,000 L HAU HUUAHT S0,

2. A Riaw-l Beayz-l s2dls [0 soroui avail A2 [Ragd sal.
3. [Qlumut du-l se1901 35 [Seeusil WA 23 [Seausil yadia Alual usL sdl.

4. yel [ Hoen Rt A sulis wd 53 edl.

-

LI
(A)$5d 1213 (B) $5d. 2 21 4
(C)$5d2,3 21 4 D) 1,2, 32 4

gell U wARUR @-lsyaR U 2is2) (@-udl 2e0ls cumi- da Gu Avid [F-el ysiun sdl)

-

.......... GIRL ELMA $AUML UL Sdl.

(A) ai$ 3[H2 (B) 4is [a2n
(C) &S Au- (D) Guu Q4 515 Al

21 U4 S8l a0 wdl a 53 ?
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A2l S 54 oA vildl Ad A © ?

(A) Y5-I BI-RY - U3 AN

(B) Al 8REUA - YRAUHI MR- 2uanel W A= Aqullyd sy

(C) % Asid 2a - Adlmal -woge sau-l [ARiy sul

(D) AUE HSHEVUA - 1906 Hi HrellH dlor-u 2aus
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031.

A5 AL
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1. 2SIl sl a. RgR Ris

2. ol einal b. dUHHUREAR

3. Aflu sial c. Ay e

4. AR tnal d. >0y Qe gy
DAY
(A)1-a, 2-b, 3-¢, 4-d (B)1-b, 2-¢, 3-2a, 4-d
(O)1-¢, 2-d, 3-2a, 4-b D)1-d, 2-a, 3-¢, 4-b

A2 WA s AR %1R4E duRd-ll gl Yadl Ailg ux 54 8d B wenell surdla yasl Al
als ol as ?

(A) si-aulan B) [alauy sil~zs

(C) ddxl (D) iR 881y

Al 3o [Rad - AMRU w3y x[Gaur” ds0 USR AN ......... P arw uHd0adiA
1 GBPS il $r2xri2 203 ydl uisau-l 2a wa [laq sul .

(A) 2020 (B) 2022

(C) 2024 (D) 2025

AR ARHL MR 21 A a2 D2l UL su1 ueel [Big asl [Gually dwr sdl ag aul © ?

(A) s (B) -ugal

(C) [ayaw we (D) BAu &l

A2l WS 5y Jed 2 HRdAL AR Alsadl Alddl uan 3ed R dals ey ¢ ?

(A) BAANR (B) dpusdl

(C) [auanst (D) silAan

22 22182 7531 "HaS 2018 ... GIRL A3 S 2.

(A) NITI 2ui0 (B) (A2 24 WAIBIA Hanau, ¢HIRd SR
(C) -1 HALHY, MR ASIR (D) NeiBisAlld 241 wicus- [Qendt

WHO 4 d-ll uau suagas [ [Guas wigl usifia 530 6. Q- W4 sui 10 wiglui =) ?
(A) 2122084 (B) Hadlut

(C) 3R (D) RS au-6ll

A WA su Auul [l Al oflo ol wiss Al 8dl ?

(A) ddausu (B) su2s

(C) >3 (D) A%Ad

auRd- “oliolltiq ya” [ag Hla-u Wl sy [ e ¢ ?
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(C) MRAxL Al aivtl 3¢d 25 (D) HRd-Al Akl Qo A-A3 ya
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uyed YR gL Al sl SiA A2 asmain adls ondl gemani >u sdi ?

(A) A2l (35t B) B[ dgaq

(©) [As2iz yovila (D) Gu-i U4 58S ]
IR AR GldL AW .......... HR Udd 53 8.

(A) uldcul (B) yau-il

(C) Ura-2l (D) £&l4l

A2l-u UL g1 Aot “oldu sRlan dlg-w” eiow AL 28m) a3 s & ?
(A) Br uga (B) GrRwvis

(C) [B812 (D) GU-L dHIH

s Slelrrll A A2l adl aRuddl .......... ABAHL A3 ALY 6.

(A) Grr uga (B) Wt

(C) Ao (D) M8

AR AL MR [AfAY cuolHl 2udlst 214 slaa [Asiu Honilg 2udle ........

ed.

(A) AH A3S ALy (B) WAl ot dioseil
(C) waurd=l @ast Ui+l (D) M 1% sl

Y oiu. . oie 1A WS s edl a3uaH vid Uldidl 4420l 529 vidl © ?
(A) dudHicl (B) wyu =y (il

(C) Sl-g1 (D) Gu-i U4 58S ]

AL M3 Ay

cuRdly dilasn 2unpni D UL sul gaure a3ul R’ acsenl uulde 2w 6 ?

1. AUDS Y 2. 2uldls 3. s ~uu 4. AXHY

RS
(A) $5d 1 211 2 (B) $5d 2 i1 4
(C) $5d 1,2 ¥ 4 D) 1, 2,344

QA U4 su1/ 59 851/ AdrcuS 2l uaRll cudla AR sl aadls Ao 21us SR - OCI)

A YL wigaHi vl A i ?

(A) Y& 8551

(B) HNR4d 5%

(C) disul 2 A%l [QaAaeumi Hd 2uudsl 855
(D) GuTl dHIH

2u(e Yol MRAHI .......... Aluis suaionl - as 8.
(A) 3 (B) 4
©)5 D) 6
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041.
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043.

044.

045.

046.

AuAMIAL Al Aed DA Qe A dl.

1. Svdla [QaurA e 2d? asuAe 21 e wlaRAE q2e 60,

2. ALSUML GIRL 1 SAUML 2l 2[R941u s1uEL BuR Fawell As ddls sl 52 8.

RS
(A) S5 1014 9.
(C) 1311 2 i 1 69,
A3SL AL :
-1 Rl
1. -weusla uld
2. dw Alfda
3. stARll 24 (R auldil
4. QAFel uglaztia aadl aHlq
PR

(A)1-a, 2-b, 3-¢, 4-d
(C©1-¢, 2-d, 3-a, 4-b
ARl RUAdAHL 512 25 358 A AL

C =\ Y g

(B) $5d 2 13y 8.
(D) 1 244 2 vi w21 69,

AE-TT (AAfa usR)

o

=n

d.

. viewr u@ld
. [agruEsRl e ala

weHl Al
QA aAsR ARl

(B)1-b, 2-¢, 3-d, 4-a
D)1-d, 2-a, 3-b, 4-¢
Usl sy [Aan wilg © ?

(A) $5d AR AEIAAA % 512 248 358 dls MR sl 2udl 9.

-

(B) adl Ae1dd U 51 s 358 adls Nd saumi 2udl 9.

-\

(C) 2l axm eladini [Aadl (25S) wa Yy 8.

(D) uctizy vgLda-N uaroledl e vetddl ua si2 218 358 dadls e 530 asl.
2§ sl Al 16 [zt Ao yeadsl DA A4 56 spiadl 59 a3 ?
(B) Hehl sHuA 520 HIgS)

(A) Hesl sHAAA Juue
(C) Hedl sHAEA t1RARS)

A2 U s SUHL AR AELEA AMASUA SAHL AUAL Uil YSIE sl ?

(A) RnRa Men 3u
(C) 3cusie Ml 3u

1. YA WS 2uug

2. sl Heoll2A Ui 2uug
3. sGelloliq Uleus 2uug

4. Qi 24 gl Aueidl
518

(A) $5d 1 21 3

(C) 54 1,3 ¥ 4

(D) Guzu Q4 515 Al

(B) 2sduAnle 3u

(D) [dguvn (4. 222 s A2
AaAldn Hleas [Rsaidi-u aidla Risdidi ssn - WS 56 Sl 2ud 9 ?

(B) $5d 2 i1 4
D) 1,2,3 x4

233 Al 214 23R Ftealdziu seu
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047. D2 [QaHl 2un @l
1. G- AU A HIG agTH quHil s 25 a .

2. addl [Quaq aun oue Yo addl dud $5d oudl 8a1L anaouo ydl o 04, a4,

PR

(A) §5d 1 0% 8. (B) 554 2 3y 8.

(C) 1 211 2 bi- 02 89, (D) 1 244 2 6id vl 89,
048. .. AU ALSAMAL AR 2l w2 Al ay Avami issl 2UHd ©.

(A) [Bg1R (B) 2Rud

(C) Haus (D) G2 uega
049.  cuRdly Ald 2142698 7a vigAR, Sudl AAE .......... A oidl .

(A) Al [Qann ulRug 214 Alsus (B) ALSAML A7 ABAAML

(C) 22uld, ALSAML - APAAL (D) Gu-L U4 i ]
050.  QuRardl Al ol A AsiSdl ......... viid 2uddl €.

(A) GG (B) LHdl

(C) sudllaoiia (D) [oous

N A

051.  QuRAHE DA Ul s [QaiRl H-Ala aquld w2 nelldar € ?
(A) PUEWAL]L YUl - Anidue (B) ygRar - ulau vidun
(C) %97, QL - AU (D) Gur-uL UL 515 ]
052. -2 [l 2uA Al
1. 42dl g5 i Haodl ammsanid a2 suddl 8.

2. YA a5l 4dll buogd w2 dr 20 17° C 8.

58
(A) 54 1 0% 8. (B) 554 2 3y ©9.
(C) 1 211 2 bid 2 89, (D) 1 244 2 6id vl 89,

053. -l UsL sul 22 AisiHi 2wyl Akl s © ?
(A) st (B) RAAHIR
(C) S=sifqrn (D) W32t
054. g A cudu, ol gk, G0l A Al U4 56 gl oirud © ?
(A) s¥u B) =Aa

(C) Aruen ) B
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055.  lA-u [Qal 2un al
1. & al 9lesi wiell- orzen 8 3 2 wiell-i Wil o) 2taRisl xAaa s12el 2401 uiai siu.
2. Ml (6ls dl2R) g well © 5 % ufg-u (A4 UL AARA4- 518 Uldlril WML uiEg Aol 8.
3. @ MRA-L Yd 5i8 8.
4. 615 dle MR- ulRH 518 ©.

PRE
(A) $5d 1 211 3 0L 89, (B) $5d 2 24 4 1 89,
(C) 8541, 2 31 3 AL 89, (D) 1,2, 321 4 0201 89,
056. DA 4 58S A3 Rl Ad Azl 4l ?
(A) g well - [Rest (B) suouysil AR - AR
(C) @3yt - ydlse (D) [8u U4 ddlaa ds) - dd-uo

057.  clRaHi ¢ qlawardl auzu D& U4 55 2a w18 Astuadl © ?
1. elouavidl 2. ar-uegl 3. 6w slRoidlu 2uelsal

PRE
(A) $5d 1 94 2 (B) $5d 2 21 3
(C)55d.2 (D) 1,231 3
058.  cAssLoAsl:
AEl-1 R v LT (A%)
1. qruels a. AYA
2. sadl b. HuAA
3. eillailad c. MRS
4. 220l d. saies
PRE
(A)1-a, 2-b, 3-¢, 4-d B)1-¢, 2-a, 3-b, 4-d
(C)1-a,2-¢,3-d, 4-b D)1-d, 2-a, 3-¢, 4-b

059. 2011 -l azdl dRial-u e A [Qeunl 2un @l
1. 283 [Araiiml Al 617 adl 4aagd, 2l Aldl ay asdse@uy a8,
2. 89 [RauRiui A% 102 azdl 42nad [BHaa uga Al 2ieg adAswany] A% 8.

(A) S5 1014 9. (B) $5d 2 13y 8.
(C) 1311 2 i 1 69, (D) 1 244 2 vid w2 69,
060.  MURAMI .......... 2149 AldiA [Adu 3udl sue: gld uys dls 2inm 2uuami udl 8.
(A) 54 (B) 75
©)92 D) 101
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062.

063.

064.

065.

066.

067.

068.

A2 W4 sl 2ryora WS 30 Al 2w 8 ?

(A) aalgu (B) g 244 [Asiou

(C) A ¥4 B i1 (D) Gur-it U4l 518 )

og1R ALEs UlsallU adb0a0 51280 HIEL AvAHT SIHEIRL AU AHId 8, dA ... 5869,
(A) AHl eisid) (B) tgl 6i5idl

(C) sy sisdl (D) ARAAUHS ti513]

05 €2 2 €2 69 5 % €3 {loxd 6ls 2is Sl ... A dlydlwd 9.

(A) S8R &t-l AL (B) wlderu Gisi

(C) vur2ll siuiRe &= (D) ~Ur-6L511 -uRu Sl zenil

VYRS ARu-cqaral AL U4 sig wlReun © ?

1. goudl 2. 61Ad GuR vaufll =142 3. vuHdHl ARl 4. 3sasil-u Agan-l wnaiil

PR
(A) $5d.1 241 4 (B) $5d.2 213
(C)$5d.2,3 211 4 D) 1,2, 3 4

Azl (s AsHa-n Al A U4 56 s vidl d Al © ?
(A) dois5L I - Glal Yoy €2 i Gl o4 €2

(B) dvissi 1T - Glal Yy €2 2 Al o4 €2

(C) dvis5l IIT - {120l Hey €2 i Al o= €2

(D) Gu-u U4 51 <l
QURAHE (AR opRiml aaadl s2an e D2l U8 sy Y auin 8 ?
axdl (0-14) (60 day) 5142 azdl (15-59)
(A) T geed axdl (15-59) B) 22dl (0-14) (60 day)
adl (0-18) (59 day) s1d axdl (19-57)
© ™ gefad axdl (19-57) D) Al (0-18) (59 Aay)
oA vidui 2is aioll Aisull v (1s) orritacuni 2ud 214 duidl 2000 vidui sl v 2ud
il A3 vid Add Wl Y3 Wi 2ud, dq .......... 58 89,
(A) R RS @A SAdiaq) (B) us2e uél Ring (iR ¥y s
(©) wa R (21 Soiaq) (D) 421 RS o1 SA3iam)
the2 YASLS .o w1 Asuay 9.
(A) AL AAELAL ML (B) ditii-il AAEIAL ¢
(C) 51 dd (43 2Sa)l dua (D) vidl s
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069.

070.

071.

072.

073.

074.

075.

076.

Hira (A5t Yasis AERdL €2, -1 A 2U[AQ 208 211 .......... 4 oiig 8.
(A) 4.2, Slaui HAEls sar 2uls Gauen

(B) HAEls 54 RS Geawet A ardalds wdle axdl

(C) Y. SIARHI & AU Beurg

(D) Y. 2. SL4™L A HIUElS 28

2w WA 53 5 w810 w3yl 2uasd aes 4l ?

(A) SiulR2 42 2uas (B) Rudwdzenrz 2nas
(©) BBlass 21 51 (D) -l »1as
QrASAHL AR A2 ...

(A) 4ot 22Ls HUsuA-or WA ANAG SU-N2l-UL 2L AU FUAHE HEER Al
(B) Hot8 215 A WA NHAA dHH SU-DlinL AR (UMl AlIRL.

(C) AU 2215 sAAY A1 UNAA dAHH SUl2A AU G 258 QUIRL.
(D) Gu-u U4l 51 <l

A513 yaaly >uaig oedim ......... 54 8.
(A) s suair- (B) 10 afla uRad-lu $351R gaadeys
(C) 15 arflu g3l ([Axsm) eeudes (D) 20 anflu Yol Anuul YL

gl UASRL” g €9 ?

(A) 425121 gL Uldoif8a axgii-l [Aea duiR

(B) UdaHi asigldl qu [ Aeud sdidr

(C) AidRARIIA S8 ASULAUR UL AUIR

(D) SWU WU AFE URUH JuidR

16 [yl Al axdll Gzl AN .......... HiuRwHl a5 ©.

(A) visollon Gu 512 (B) URUR 50 (RuaRnH)

(C) 2idRs woala ual (D) 2AdR woald 2usl

A dad [Briauul Yausl 520 dl dud @l a1 U8 56 atuldil geadl Ad Gadl s vael ?
1. s 2. 33gin 3. dg

PR

(A) 851 (B) 51 241 2

(C) $5d2 413 (D) $5d 1 2413

A2 WA 5y GuRAME o ugus el ?

(A) S1UE8IS53 (B) »ulAs

(C) sARAS3 (D) ¥2[Run
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077. 1A WA Al sU USRL FAFgruast ddls s1H Qn & ?
(A) tiseRa (B) 521
(C) $4I-1L 913 (D) GUR-l AxH
078. DA WS 5y / sui [Aan vl /vl 9 ?

Y

1. 6w s[Roily dlaraon ofaal vl [QraRHL ¢id €9 5 %ui 200 A4l 5 A2l atR Z2al (U2 aRALE
URER

2. GIRd-L Hi2L MRl [k GuasRoidla wAviz- Fadidl 2u29ild ¢9.
3. VAN QLA HELL 355+ BRAusaH .

PR
(A) $5d 1 (B) $5d 1 211 3
(C) 55d.3 (D) $5d 2 ¥ 3
079. A UL 56 Al viidl Ad Al © ?
(A) Hedlail - sel [l sia . (B) Garumdlal - 24 daldlani
(C) uRyul - 31 didlani (D) A - 61 %1 Y, 89,
080. 3l uaHy R¥is2R (5122 Ylseur R¥iseR) wi Ala-w U4 sy ollas (54-2) adls amdl asu © ?
(A) sl Aluxn (B) &dl aier
(C) t1$ A& (D) $32RUH 25153
081. DA U4l sil cindt alsa el quiR € ?
(A) ARSA (B) 15 31%
(C) gedl aiy (D) Sl
082.  yedl-1II -l 350 (3.4l ugianaicid Aisiedlld 2ugA .......... 58 8.
A) Bya (B) U518
(C) -ua (D) 41M
083. sl AL :
Ael-1 ([ AEl-11 (Guaiol)
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2. dglaq b. wudle [ asuis [Qxun
3. FIAR c. oIl guand asig [
4. 4y d. uRas [Qaun
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(A)1-a, 2-b, 3-¢, 4-d B)1-a, 2-d, 3-b, 4-¢
(C)1-a, 2-d, 3-¢, 4-b (D)1-¢, 2-a, 3-b, 4-d
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(A) 385 (B) 395
(C) 415 (D) 2uMig 25 uR .

087.  ¥is Bsiadl A oucgatiqi w3 A, 4 Al 214 5 A Sl dl d dasn Seg 2 ?
(A) 6 LMl (B) 8 al. Al
(C) 10 «l. Al (D) 12 AL.{H

088. -1l Usl 5¢ Avan 2lqeuesu qvul ) ?
Ay11 (B) 31
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(A) =3, -2 (B) -3, 2
(©)3, -2 (D) 3,2

090. [HaWH:[93-{5x4}+7(6-15)—9]=....0....
A1 (B) -2
(©)10 (D) 2uMi 2i5 U .

-

091. 3421 119 Ul QAL 52el 99l ?
A)17 (B) 238
(C) 4046 (D) 2uMig 25 uL 1l
092.  ¥l5 50 AR+ HAHD 25 E1HA Dddl 2 272 21 61iladl 330 6. % UAH 10 HUAR GUE Al 132 3.2
Sl ddl bl 2UARIHE dA S22 |G ugal ?
(A) 6.0 (B) 6.2
(C) 6.6 (D) 2uMig 25 uL 1l
093. 318000 1 5% Qvi 2 asl {2 AsaBy cny ysaidl 2 ad ugdl s2¢ cu Haal ?
(A) 3L 800 (B) 3. 820

(C) 3L 840 (D) 2UHid, $s uR ]
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iR 2:3 Al dl Mda-dl sia-dl Gur sedl sl ?

(A) 25 (B) 30 ax
(C) 35 (D) 2UHig, 25 u il

096.  [a-ie s 511 20 [Bauui Y 53 a5 6. wuR YA 3 o 511 25 [Banui Y 52 6. o til 0 wolld
51 52 dl S2a [Bauui d s yg aw ?

(A) 4—25 (Bau B) 12 [Bau

100
© 5 (2au (D)10 [2axn
097. s sl Rz wellai 23w 20 R /scus 6. o uas-l B3u 4 3R /sas i di wasHl [Baumi 72
(3R 2idR studl dd seal aHu Qo ?
(A) 3 sc15 (B) 3 scus 36 Ml
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-

098. 1Al A 2ugld 2uden [sedl WA s [asen w2 vigoiudl © ?

(A) dU%R, VRS, WSHID (B) A2, W, [Qaal
(C) Quisi, [Qasi, usllal (D) 2UHig, 25 uR il
099.  ¥is wusiR 28l Gus 7 {12 A d-l o 5 H12R Slu dl df aqsn s2q a9 ?
(A) 110 &~ {122 (B) 550 @~ 22
(C) 1100 &+ {22 (D) 2200 &+ lex
100.  -DAD gelai (?7) A wowa 56§ Avul 208l ?
7, 16, 34, (..%..), 142, 286, ...
(A) 70 (B) 72

(©) 75 (D) 2UHig, 25 uR il
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101.

102.

103.

104.

105.

106.

107.

108.

Who is the author of “A history of Indian Medical Literature”- a book published by Groningen
Oriental Studies?

(A) Gerrit Jan Meulenbeld (B) Filliozat J

(C) Kenneth G Zysk (D) Kutumbiah P

Hemorheology is the study of:

(A) Color properties of blood cells

(B) Clotting properties of blood

(C) Flowproperties of blood and its elements

(D) Immunity

Which one of the following statement is NOT true in relation to cholecystokinin?
(A) It stimulates the contraction of gall bladder

(B) Is secreted by “I” cells in the mucosa of the upper small intestine

(C) Digestive products of fat, fatty acids, and monoglycerides stimulate its secretion
(D) It stimulates gastric emptying

Identify the incorrect statement related to Rasa dhatu among the following-

(A) The term Rasastands for all the fluids that flow in the body, including Rudhira

(B) Vyana Vayu makes the movement of Rasa from the heart possible, while SamanaVayu takes
Rasa towards Hridaya

(O) If Rasa remains improperly transformed because of weak Agni, it becomes Aama.

(D) Rasa moves in the body in the fashion which is similar to the movement of Rabit, Tortoise
and Lion

Which one of the following test is not used for the assessment of Adrenal Function?
(A) Metyrapone Test

(B) Dexamethasone Suppression Test

(C) Kepler’s Water Excretion Test

(D) Endoscopic Retrograde Cholangio-Pancreatography

According to Charaka Samhita, weakness, dryness of mouth, pallor, body-ache, and fatigue are
the symptoms of:

(A) Shukrakshaya (B) Medakshaya

(C) Rasa kshaya (D) MajjaKshaya

Blood flow to the two kidneys normally is about:

(A) 1900 mL/min (B) 1100 mL/min

(C) 2200 mL/min (D) 500 mL/min

According to Charaka Samhita, the Mula of PranavahaSrotas is:

(A) Hridaya and Rasavahidhamani (B) Hridaya and mahasrotas
(C) UraPradesha (D) Phuphphusa
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109.

110.

111.

112.

113.

114.

115.

116.

117.

The followingdoes not constitute plagiarism:

(A) Copying other’s published ideas and writing them in your paper without modifying the
language and without giving credit to the original author

(B) Copying other’s published ideas and writing them in your paper without modifying the
language but by giving credit to the original author

(C) Copying other’s published ideas and writing them in your paper after modifying the language
but without giving credit to the original author

(D) Copying other’s published ideas and writing them in your paper after modifying the language
but by giving credit to the original author

How many causes of ShukraPravritti have been explained in Charaka Sambhita?

A7 (B) 8

(O (D) 4

witartwg s wiasrar {E AgATEUTIAT = - which of the following condition will have these features?
(A) MedaKshaya (B) ShukraKshaya

(C) Pitta Prakriti (D) KaphaKshaya

Which color blindness is known as Tritanopia?

(A) Person cannot distinguish between red and green colors
(B) Person cannot distinguish between blue and yellow colors
(C) Person cannot distinguish between green and red colors
(D) None of the above answer is correct

Currently on PubMed, a search for the term “Ayurveda” returns approximately following number
of results:

(A) More than 50 (B) More than 500

(C) More than 5000 (D) More than 50000

Which one of the following is not the method of measuring cardiac output
(A) Ultrasonic Flowmeter (B) Indicator dilution method
(C) Using oxygen flick principle (D) Ivy Method

A transplant of a tissue or whole organ from one human being to another or from any animal to
another animal of the same species is known as

(A) Autograft (B) Allograft

(C) Xenograft (D) Isograft

Tvak having the thickness of 1/8 of rice is known as

(A) Asrigadhara (B) Avabhasini

(C) Tamra (D) Rohini

Who described the Daruna quality of Vata?

(A) Acharya Charaka (B) Acharya Dalhana
(C) Acharya Kashyapa (D) Acharya Bhela
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118.

119.

120.

121.

122.

123.

124.

125.

126.

The correct translation of the following verse is:

RIS @St 99 1

FAT Frpfy o o s ars|l

(A) The moving Rasa, wherever experiences obstacle due to abnormality in Srotas, it produces

disease in that very same location. This process is comparable with that of the clouds
producing rainfall in a localized region that is favorable for rainfall.

(B) The static Rasa, wherever experiences expelling force due to Vayu, produces disease in that
very same location. This process is comparable with that of the clouds producing rainfall in
a specific region because of moving wind.

(C) The moving Vayu, wherever experiences obstacle due to Rasa, produces disease in that very
same location. This process is comparable with that of the clouds producing rainfall in a
specific region because of moving wind.

(D) None of the above
FATAT TFAHAT T HeT: Mt @I W is described in

(A) CharakaSambhita (B) Sushruta Sambhita

(C) Kashyapa Sambhita (D) Bhela Samhita
WITIGRAT I T Wed is described for which one of the following:

(A) Kapha Prakriti Purusha (B) Mandagni Purusha
(C) Vishamagni Purusha (D) Vata Prakriti Purusha
According to Sushruta Samhita the Mula of RaktavahaSrotas is:

(A) Liver and Spleen (B) Liver, Spleen and RaktavahiDhamnyah
(O) Liver, Spleen and Majja (D) Liver and Stomach
Sveda is the mala of

(A) Majja (B) Mamsa

(C) Meda (D) Rasa

Vessels are elastic and forward flow is continuous because of recoil during diastole. This recoil
effect is known as

(A) Wind Kessel effect (B) Wolf Chaikoff effect
(C) Law of Laplace (D) None of the above
Fetal haemoglobin has

(A) 2 Alpha and 2 Beta Polypeptide chains

(B) 2 Alpha and 2 Gamma Polypeptide chains

(C) 2 Beta and 2 Gamma Polypeptide chains

(D) 2 Delta and 2 Polypeptide chains

The mean pressure in the aorta is averaging about

(A) 70 mm Hg (B) 100 mm Hg

(C) 125 mm Hg (D) 35 mm Hg

Which one of the following statement is NOT correct in reference to polycythemia
(A) Increased viscosity of the blood

(B) Blood flow through the peripheral blood vessels is often very sluggish
(C) Blood flow through the peripheral blood vessels is often very Fast

(D) Increased peripheral resistance
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127.

128.

129.

130.

131.

132.

133.

134.

135.

Which of the following blood vessels has the greatest compliance?

(A) Arteries (B) Arterioles

(C) Veins (D) Capllaries

Which one of the following statement is wrong regarding Filtration Fraction?
(A) It is the ratio of Glomerular Filtration Rate and Renal Plasma Flow

(B) Filtration fraction is normally 0.16 to 0.20

(C) When there is a fall in systemic blood pressure, filtration fraction decreases
(D) Catecholamines increase the Filtration Fraction

What is the clearance of a substance when its concentration inthe plasma is 10 mg/dL, its
concentration in the urine is 100 mg/dL, and urine flow is 2 mL/min?

(A) 2 mL/min (B) 10 mL/min

(C) 20 mL/min (D) 220 mL/min

The correct definition of Pulmonary Compliance is:

(A) The increase in lung volume per unit increase in pressure

(B) The decrease in lung volume per unit decease in pressure

(C) The change in lung volume per unit change in pressure.

(D) None of the above

Which of the following pairs in INCORRECT concerning the Einthoven triangle?
(A) Lead I : Right arm/Left arm (B) Lead II : Right arm/Left leg
(C) Lead III : Right arm /Right leg (D) Lead III : Lt arm/Left leg

There are published standards for specific types of study-designs. Which one of the following
combination is wrong?

(A) Observational Studies - STROBE

(B) Clinical Interventional Studies - CONSORT

(C) Diagnostic Accuracy Studies - STARD

(D) Systematic Reviews and Meta-Analyses — QUADAS

Which one of the following is the disadvantage of case control study?

(A) Poor in identifying new diseases (B) Cannot be used in outbreak investigations
(C) Relativelyexpensive (D) Restricted to single outcome

Which one of the following statements is incorrect about qualitative and quantitative research?

(A) Qualitative research is described as an action research using observation and interview
methods

(B) Quantitative research is based on structure and uses experiments and surveys as methods

(C) Quantitative researchers use reliability as a way of verification, whereas qualitative
researchers use validity

(D) Qualitative research is deductive in nature, in contrast to quantitative research which is
inductive

The following database exclusively indexes Ayurveda research articles:
(A) AYUSH research Portal (B) PubMed
(C) Science Direct (D) DHARA
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136.

137.

138.

139.

140.

141.

142.

Qualitative research instruments used for data collection include

(A) Interviews (B) Observations

(C) Analysis of documents (D) All of the above

Which one of the following statement is not correct regarding data mining

(A) Data Mining, also popularly known as Knowledge Discovery in Databases (KDD)
(B) Data mining is the extraction of useful patterns and relationships from data sources
(C) Descriptive and predictive are two types of Data mining

(D) Transaction and spatial databases can not be mined

Which of the following is a Criteria for a good researchquestion

(A) Repetitive, Boring, Unethical

(B) Easy, Time consuming, Convenient

(C) Difficult, Long, Complicated

(D) Feasible, Interesting, Novel, Ethical, Relevant

Which of the following statement is INCORRECT regarding sampling?

(A) Random sampling is a way of ensuring that all members of the population have an equal
chance of being selected

(B) Stratified random sampling is a special type of sampling to ensure that all subgroupsin the
accessible population are represented in the sample.

(C) Cluster sampling is another way of random sampling. It is based first on the randomselection
of certain subgroups, from which the sample can be taken

(D) A random sequence cannot be generated by a computer

A questionnaire is a document designed for seeking specificinformation from the respondents.
Regarding writing a question which of the following statements is wrong?

(A) In a closed-response question, the respondent is provided with a list of pre-determined
response options.

(B) Open-ended questions elicit more detailed responses, but the responses require more effort
to encode for data analysis.

(CO) In the Likert-type format, the respondent chooses froma graded responses such as: strongly
agree, agree, undecided, disagree, strongly disagree.

(D) In the forced-choice format, respondents are forced to opt ‘do not know’ or ‘can’t say’ or
‘undecided’

Trial studies performed after marketing of the pharmaceutical product and are carried out
based on the product characteristics for which the marketing authorization was granted and
are normally in the form of post-marketing surveillance. They are

(A) Phase IV clinical trials (B) Phase III clinical trials
(C) Phase II clinical trials (D) Phase I clinical trials
Which one of the following is not related with Correlation coefficient?

(A) When the relationship between two variables can be expressed graphically by a straight line,
correlation can be expressed as the correlation coefficient

(B) When one variable increases as the other increases, the correlation is positive
(C) Complete correlation between two variables is expressed as 100

(D) The correlation coefficient (r) is measured on a scale that varies from +1 through 0 to 1.
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143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

Which one of the following statements regarding Standard error is incorrect?

(A) The standard error (SE) is a statistical measure about the probability that the finding in the
sample will reflect the finding in the population.

(B) Standard error does not depend on the size of the sample, and the variations of measurements
in the sample

(C) Standard error can be used to produce a confidence interval, which has a useful interpretation

(D) Standard error of a mean is calculated as the standard deviation divided by the square root
of the number of observations

The word Sheetagnita is used for which of the following?

(A) Mandagni (B) Vishamagni

(C) Bhutagni (D) Balasaka

Twelve sites of Oja have been described in which textbook?

(A) Bhela Samhita (B) Kashyapa Samhita
(C) Ayurveda Dipika by Chakrapani (D) Harita Samhita

Stabdha-purnaKosthata, yellowish discoloration, decreased digestive power, heaviness in organs
and lethargies are the features of:

(A) DoshaPrakopa (B) DoshaSanchaya
(C) DoshaPrasara (D) Sthanasanshraya

According to Sushruta Samhita, Vak-parushyam, Karshya, Gatrasphurana, Ushnakamita,
Nidranasha, Alpabala are the features of

(A) VataVriddhi (B) VataKshaya

(C) KaphaVriddhi (D) KaphaKshaya

According to Sushruta Samhita, Peetavabhasata, Santaapa, Sheetakamitvam, Alpanidra,
Murrcha, Indriya-daurbalya are the features of

(A) Pitta Vriddhi (B) VataVriddhi

(C) KaphaKshaya (D) None of the above

Ruksha, Laghu, Sheet, Daruna, Khara, Vishada are the six qualities of Vata. In which of the
following chaptersof CharakaSamhita these qualities are described?

(A) Charaka Vimana Sthana Chapter 8 (B) Charaka Sutra Sthana Chapter 12
(C) Charaka Sutra Sthana Chapter 20 (D) CharakaChikitsaSthana Chapter 3

Praspandana, Udvahana, Purana, Viveka and Dharana are the five functions of Vataaccording
to

(A) Kashyapa Sambhita (B) Bhela Samhita
(C) Sharangadhara Samhita (D) Sushruta Samhita

Which one of the following statements is INCORRECT with reference to Nanatmajavikaras of
Vayu as per Acharya Chakrapani?

(A) Sramsa means slight displacement

(B) Vyasa means expansion

(C) Bhramsha means much more displacement

(D) Harsha develops because of instability of Pitta

The words Kritsnadehachari and Mahajavaare used for which of the following
(A) Vyana Vayu (B) Prana Vayu

(C) Rasa Dhatu (D) Rakta Dhatu
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153. A questionnaire is distributed in a classroom asking for the details such as gender, age, height,
weight, economic status, educational achievements and rural/urban background of the students.
The data is entered and analyzed. In this context, the following statement is INCORRECT:

(A) The data can give answers to descriptive questions such as “the distribution of students
belonging to rural background, male gender, lower economic status etc.”

(B) The data can give answers to associational questions such as the “Is obesity associated with
economic status?”

(C) The data can give answers to the causal questions such as “Whether studying in rural areas
lead to better educational achievements?”

(D) This kind of a study is a survey and falls under the observational study.

154. In reference to the circulation of Rasa which of the following commentator has described the
meaning of “AnunaVisheshenaAnudhavati” as “SuksmaPrakarena”?

(A) Acharya Chakrapani (B) Acharya Dalhana

(C) Acharya Hemadri (D) Acharya Arundutta
155. Following are the differences between Scopus and PubMed except:

(A) Scopus requires subscription whereas PubMed does not

(B) Scopus is owned by Elsevier whereas PubMed is owned by NLM

(C) Scopus indexes all important science journals whereas PubMed indexes only BioMedical
journals

(D) Impact Factor is calculated based on PubMed citations and Not on Scopus citations
156. Following are the differences between Impact Factor and CiteScore Except:

(A) Impact Factor is calculated based on the citations on Web of Science and CiteScore is
calculated based on the citations on the Scopus

(B) Impact Factor looks at citations in the current year to articles in the previous two years,
whereas CiteScore considers the citations in the current year to the articles published in the
last three years

(O) Clarivate Analytics declares CiteScore whereas Elsevier Declares Impact Factor

(D) Impact Factor does not consider citations to certain articles such as letters to editor but
CiteScore considers all citations irrespective of article type

157. Acharya Hemadri has considered some individuals as ‘Chirapako’. This description is indicative
of which of the following?

(A) Medasara Individuals (B) Mandagni Individuals
(C) Vata Prakriti Individuals (D) Vishamagni Individuals
158. All are true about h-index EXCEPT:

(A) The h-index is an author-level metric that attempts to measure both the productivity and
citation impact of the publications of a scientist or scholar.

(B) If an author has published only one paper and if that has been cited 100 times in other
papers, his h index will be 100

(C) The index was suggested in 2005 by Jorge E. Hirsch, and is sometimes called the Hirsch
index

(D) The definition of the index is that a scholar with an index of h has published h papers each of
which has been cited in other papers at least h times.
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159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

Red blood cells from a healthy individual were placed in a solution and observations were made
after 1 hour. Cells would have most likely lysed when placed in

(A) 1.2% NaCl (B) 0.3% NaCl

(©) 0.9% NaCl (D) 0.8% NaCl

The movement of a substance across a membrane against its concentration gradient is known as
(A) Facilitated diffusion (B) Reverse transport

(C) Thermodynamics (D) Active transport

The calcium binding protein that plays a Kkey role in the regulation of smooth muscle cell
contraction is

(A) Dystrophin (B) Calmodulin

(C) Troponin C (D) Cacineurin

Which of the following is wrong about cardiac muscle?

(A) Contain mitochondria

(B) T system is located at Z lines

(C) Cardiac muscles have a triad: cardiac artery, cardiac vein and cardiac lymphatic
(D) Gap junctions provide low resistance bridges for the spread of excitation

Which form of vitamin A combines with opsin to make rhodopsin?

(A) 11-cis retinal (B) Lumirhodopsin

(C) Metarhodopsin (D) All trans retinol

The process of consolidation i.e the conversion of short term memories to long term memories
occurs in the

(A) Hippocampus (B) Hypothalamus

(C) Cerebral cortex (D) Amygdala

The Frank -Starling law of the heart states that-

(A) Output of the heart is controlled almost entirely by the activity of the heart

(B) Blood entering the atria is not pumped immediately in to the ventricles

(C) Heart rate controls the cardiac output

(D) Within physiological limits contraction of myocardium is a linear function of the resting length

A 32 year old woman was evaluated for infertility. On 21 day of her menstrual cycle following
readings were obtained after blood examination- Serum gonadotropins, estradiol,Progesterone,
TSH, Prolactin and Growth Hormone. Which one of the following would be the best indicator
for the assessment of ovulatory or non-ovulatory cycle?

(A) FSH (B) Estradiol
(C) Progesterone (D) Prolactin

A pregnant diabetic woman has been taking recombinant insulin during the pregnancy and
delivered a baby weighing 4.9 kg. This is most closely related to-

(A) Passage of maternal insulin in to the fetus

(B) Elevated level of fetus insulin

(C) Uteroplacental insufficiency

(D) Hyperglycemia in the mother

The release of Gastrin from G cells in the antrum of the stomach is inhibited by-

(A) Somatostanin (B) Circulating Epinephrine

(C) Blood borne calcium (D) Mechanical distention of the stomach
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169.

170.

171.

172.

173.

174.

175.

176.

In which of the following Dhatu Kshaya, patient feels shaky even with slight exertion, has
intolerance to loud sound, palpitation, stretching type of pain in cardiac region?

(A) MajjaKshaya (B) Rasa Kshaya

(C) RaktaKshaya (D) ShukraKshaya

Thinness, weakness, development of lightness of bones and Vata disorders - are the features of
(A) MajjaKshaya (B) AsthiKshaya

(C) RaktaKshaya (D) PureeshaKshaya

Which one of the following statements is incorrect regarding Srotas?

(A) Srotamsi refer to non-specific entities in the body

(B) Srotamsi are entry as well as transportation passages

(C) On vitiation,Srotamsi may lead to increase or decrease in dhatu

(D) Rasayani, Rasavahini, pantha and marga are the synonyms of Srotamsi
Following tools are the Citation Management Tools, EXCEPT:

(A) Grammarly (B) Mendeley

(C) Zotero (D) EndNote

Many studies have been conducted with regards to biochemical, hematological and genomics in
field of Prakriti. Which one of the following is NOT a major finding of these studies:

(A) There is significant difference in expression of some CD marker cells as per Prakriti. It was
found that CD25, CD56 marker cells were expressed higher in Kapha Prakriti individuals

(B) Autonomic nervous system activity may be associated with Prakriti of an individual and it
was found that Parasympaheitic activity is dominant in KaphaPrakriti individuals with
respect to cardiovascular activity

(C) Difference in EGLN1 has been found to be associated with Prakriti which plays a key role in
oxygen homeostasis

(D) No association has been found till date betweenPrakirti and hematological parameters
What is ORCID?

(A) It is (Organization for Research Citation Indicators and Dissemination) a nonprofit
organization dedicated to monitor the agencies that offer services like journal evaluation

(B) It is (Optimization of Research Credibility in Inter-Disciplinary areas) a nonprofit institution
to monitor research activities on multidisciplinary areas

(C) It is (Original Research Citation Indicator Directory) a nonprofit institution to monitor
research activities and citations

(D) It is (Open Researcher and Contributor ID) a nonproprietary alphanumeric code to uniquely
identify scientific and other academic authors and contributors

Which one of the following is not a feature of RaktaKshaya
(A) Diminished Agni and aggravation of Vata

(B) Roughness and dryness of skin.

(C) Desire to eat hot and sour substances.

(D) Looseness of Sira

SthuladeerghavritaSandhayascha is the feature of

(A) Asthi Sara (B) Majja Sara
(C) Meda Sara (D) Mamsa Sara
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Three Boolean operators used for Boolean searching over the databases are:

(A) YES, NO and MAY BE (B) AND, OR and NOT

(C) Asterisk, Comma and Bracket (D) 1,2 and 3

Which one of the following is not a feature of Mutrakshaya

(A) Painful micturition (B) Thirst and dryness in mouth
(C) Burning micturition (D) Hematuria

A subject is complaining of increased heaviness and coldness in body, excessive sleeping and
drowsiness, salivation and decreased temperature. What is the most probable cause behind this?

(A) Pitta Kshaya (B) ShleshmaVriddhi

(C) MedaVriddhi (D) MamsaVriddhi

Which one of the following is not a function of SamanaVata?

(A) It is responsible for the transportation of Dosha, Mala, Shukra, Artava and Ambu
(B) Circulation of Rasa back to heart

(O) Gives strength to Agni

(D) Secretion of Sweda and Rakta

With regards to erythropoiesis as per Ayurveda Physiology, which one of the following is not
correct?

(A) Ranjaka Pitta plays a role in imparting color to Rasa Dhatu
(B) Desha , Kala and Oka Satmya plays a role in formation of ShuddhaRakta.

(C) Majja Dhatu does not play any role as no symptoms related to Rakta Dhatu are produced on
its pathological manifestation

(D) Upachaya of Shonita gets started in fifth month of intrauterine life

What is the effect of testosterone on fusion of epiphysis with the shaft of long bones?
(A) Testosterone does not play any role on fusion of epiphysis with shaft

(B) It causes delayed fusion

(C) It causes early fusion of epiphysis with shaft of long bone

(D) It causes early fusion of short bones

If there is rise in body temperature, which area of hypothalamus will get stimulated to normalize it
(A) Posterior hypothalamus (B) Anterior hypothalamus

(C) Lateral hypothalamic area (D) Medial hypothalamic area

Which one of the following is a function of somatostatin?

(A) It increases motility of stomach. Duodenum and gall bladder

(B) It increases secretion of GIT.

(C) It decreases the secretion of insulin and glucagon

(D) It increases the secretion of insulin but decreases secretion of glucagon

If there is extra hydrogen ion concentration in plasma, what will be the renal mechanism to
avoid acidosis

(A) There will be tubular absorption of all the filtered HCO5
(B) There will be generation of extra HCO; by kidney
(O) Kidney plays no role to compensate extra hydrogen ions

(D) There will be tubular absorption of all the filtered HCO; as well as generation of extra
HCOj; by Kkidney
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Which one of the following is NOT TRUE regarding the renal tubular secretion of potassium ion
(A) Its secretion is affected by concentration of aldosterone.

(B) Its secretion involves both active and passive transport

(C) Its secretion is affected by hydrogen ion concentration and tubular flow rate.

(D) Its secretion is affected by hydrogen ion concentration but not by tubular flow rate.

What will be the total lung capacity if tidal volume is 400ml , inspiratory capacity is 3300 mL,
expiratory reserve volume is 1050 mL and residual volume is 1150 mL.

(A) 5900 mL (B) 5500 mL

(C) 4450 mL (D) 4350 mL

A person inspires forcefully after normal end expiratory volume. Which volume / capacity is
this?

(A) Inspiratory reserve volume (B) Inspiratory capacity

(C) Inspiratory tidal volume (D) Vital capacity

Which one of the following is not a layer of respiratory membrane

(A) Capillary endothelium and basement membrane

(B) Alveolar epithelium and basement membrane

(C) Interstitial space between alveolar epithelium and capillary endothelium.
(D) Layer of air lining the alveolus

A 54-year-old woman eats a healthy meal. Approximately 20 min later the woman feels the urge
to defecate. Which of the following reflexes results in the urge to defecate when the stomach is
stretched?

(A) Duodenocolic reflex (B) Enterogastric reflex
(C) Intestino-intestinal reflex (D) Gastrocolic reflex.

If in an extracellular fluid pH is 6, pCO, is 49 mmHg , HCO; is 26. Which type of acid base
disturbance is this?

(A) Respiratory acidosis (B) Metabolic acidosis

(C) Respiratory alkalosis (D) Metabolic alkalosis

When the ECG is recorded at a paper speed of 25 mm/sec:

(A) 1small square represents 0.04 sec and 1 big square represents 0.2 sec

(B) 1 small square represents 0.08 sec and 1 big square represents 0.4 sec

(O) 1 small square represents 1 sec and 1 big square represents Ssec

(D) None of the above is correct

How will you assess the increased or decreased functioning of other Mala?

(A) By observing heaviness or emptiness in their sites respectively

(B) By observing symptoms like itching, pain at their sites

(C) By observing their increased quantities

(D) All of the above

Following are the characters of the Open Access model of publishing, EXCEPT
(A) Mostly depend on revenue generated by article processing fee paid by authors
(B) They make full papers available for downloading for readers free of cost

(C) They make only Abstracts of the published papers available for readers to read for free of
cost

(D) Mostly do not require readers to pay any subscription fee
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FATURITUHIG RSFTRTNRUT is the feature of —

(A) Paishacha Kaya (B) Aasura Kaya
(C) Rakshasa Kaya (D) Shakuna
According to Charaka Samhita, Loka bhava for Sukha is

(A) Marut (B) Ashwani Kumar
(C) Vishwa deva (D) Vasu

Heterometric regulation of heart is

(A) Ventricular contraction based on changing muscle length

(B) Ventricular contraction independent of changing muscle length

(C) Ventricular contraction controlled through autonomic nervous system
(D) B and C both

If the diameter of a blood vessel is increased keeping the pressure difference between two points
constant, what will be the blood flow?

(A) No change will occur in blood flow as pressure difference is constant
(B) Blood flow will decrease by 4 times

(C) Blood flow will increase by 4 times

(D) Blood flow will increase by 10 times

The person is seized with fear complex, is excessively weak, always worried, has aggrieved sense
organs and deranged complexion, has distressed sense apparatus, rough skin and emaciated.
These features are present in which of the following condition?

(A) MedaKshaya (B) OjasKshaya
(C) VataKshaya (D) MajjaKshaya
Peer Review is:

(A) Editors sending the article to different experts in the field for reviewing and then deciding
whether to publish it or not

(B) Editors reviewing the article at their own level and deciding whether to publish it or not
(C) Editors publishing the article without reviewing it
(D) Editors inviting the article and publishing without review

Which one of the following Srotas gets vitiated due to wasting, suppression of natural urges,
non-unctuousness, prolonged exercise and hunger?

(A) Pranavaha (B) Udakavaha
(C) Asthivaha (D) Majjavaha

Which one of the following statements is incorrect in reference to “Conductance” of Blood in a
Vessel and its Relation to Resistance?

(A) Conductance is a measure of the blood flow through a vessel for a given pressure difference

(B) This is generally expressed in terms of milliliters per second per millimeter of mercury
pressure

(C) Conductance is the exact reciprocal of resistance

(D) Slight changes in the diameter of a vessel cause no change in the vessel’s ability to conduct
blood when the blood flow is streamlined
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What is the significance of mean arterial pressure?

(A) Mean arterial pressure provides the driving force for the flow of blood through the arteries,
capillaries, and veins.

(B) Mean arterial pressure indicates stroke volume.
(C) Mean arterial pressure has no relation with the pressures measured during cardiac cycle
(D) Pressure gradient is not responsible for circulation of blood.

According to Ashtanga Hridaya, the seat of KledakaKapha is

(A) Hridaya (B) Grahani

(C) Amashaya (D) Pakvashaya

Which one of the following tests is not the test for parasympathetic functions?
(A) Standing to lying ratio (S/L ratio) (B) Valsalva ratio test

(C) Handgrip Test (D) Deep breathing test

Combination of slow rising and collapsing pulse and is seen when aortic stenosis and aortic
regurgitation both are present. Which one of the pulse has these features?

(A) Dicrotic Pulse (B) Pulsus alterans

(C) Bisferiens Pulse (D) Corrigans Pulse

What is the cause of QRS complex?

(A) Atrial Repolarization (B) Ventricular Depolarization
(C) Ventricular repolarization (D) Atrioventricular conduction

Barany caloric test and Barany chair test are done for the assessment of
(A) Vagus Nerve (B) Vestibular Function
(C) Trigeminal Nerve (D) Accessory Nerve

Which one of the following individuals possessesintelligence (Medha), strong mindedness
(Manasvi), delicacy (Sukumarya), moderate strength, intolerance to pain and heat?

(A) Meda Sara (B) Majja Sara
(C) Raktasara (D) Satva Sara

The individuals who have soft organs, are strong, have unctuous complexion and voice, thick
long and rounded joints, have longevity, endowed with learning and critical understanding.
These individuals are of-

(A) Majja Sara (B) Rakta Sara
(C) Meda Sara (D) Sarva Sara

For the word Balasaka, three explanations have been given i.e loss of strength, excess sleshma,
mild fever and plumpness of body parts. These statements are given by-

(A) Acharya Dalhana (B) Acharya Chakrapani

(C) Acharya Bhela (D) Acharya Sharangadhar

Padasuptata is a nanatmajavikara. What is the meaning of Supti as per Acharya Chakrapani?
(A) Loss of activity of foot and loss of touch sensation

(B) Loss of activity of Foot

(C) Loss of touch sensation

(D) None of the above
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According to Acharya Charaka, which one of the following is not considered among eight types
of vitiation of milk?

(A) Vairasya (B) Phenasamghata

(C) Picchila (D) Grathita

Pleehavriddhi, Sandhishunyata, Katisvapa are the features of which one of the following?
(A) MajjaKshaya (B) MedaKshaya

(C) AsthiKshaya (D) RaktaKshaya

The individuals having unctuous urine, sweat and voice, having large sized body and do not
have capability to tolerate strain (Parishrama) belong to-

(A) Rakta Sara (B) Majja Sara
(C) Meda Sara (D) Sarvasara

According to Acharya Sushruta, Alpashukrata, Parvbheda, Asthitoda and Asthishunyata are
the features of —

(A) MajjaKshaya (B) AsthiKshaya

(C) ShukraKshaya (D) MedaKshaya

Who has described PanchaKsheeraDosha based on the abnormal Dosha in lactating mother?
(A) Acharya Hemadri (B) Acharya Harita

(C) Acharya Dalhana (D) Acharya Arundatta

Who has clarified that during the process of formation, Artava is Saumya due to influence of
rasa while at the time of its excretion due to specific changes it becomesAagneya?

(A) Acharya Arundatta (B) Acharya Chakrapani
(C) Acharya Dalhana (D) Acharya Indu

The amount of Artava is

(A) 8 Anjali (B) 5 Anjali

(C) 4 Anjali (D) 3 Anjali

While describing the features of Ojas Kshaya, Acharya Charaka has mentioned the world
Durmana. What is the meaning of this word as per Acharya Chakrapani?

(A) Disturbed mind (B) Loss of strength

(C) TamsikaPravritti (D) Manobalaviheena
RaktangaAkshita and Sirapurnatvam is the feature of which of the following?
(A) MajjaVriddhi (B) Swedavriddhi

(C) KaphaVriddhi (D) RaktaVriddhi

Hridaya is the seat of

(A) Sadhaka Pitta (B) Ojas

(C) AvalambakaKapha (D) All of the above

Acharya Dalhana and Acharya Chakrapani hava considered Kandara respectively as
(A) Mahasnayu and Sthoolasnayu (B) Sirasnayu and Dhamanisnayu
(C) Dehalepa and Uplepa (D) Rasayani and Rasavahini

Which one of the following statements is incorrect?

(A) According to Acharya Sushruta the root of MutravahaSrotasa is Vrikka and Vapavahana
(B) Acharya Charaka has considered Vapavahana among 15 Kosthanga

(C) Acharya Chakrapani has mentioned Vapavahana as the site of Meda

(D) Majja is present in large bones and SaraktaMeda is present in small bones
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Mridu-koshthais usually associated with

(A) Vata Prakriti (B) Pitta Prakriti

(C) Kapha Prakriti (D) Sama Prakriti

Thickest layer of skin according to Acharya Sushruta is

(A) Avbhasini (B) Tamra

(C) Rohini (D) Mamsadhara

Binding of oxygen to haemoglobin reduces its affinity forcarbondioxide. This is known as
(A) Windkessel effect (B) Haldane effect

(C) Waterfall effect (D) Hawthorne effect

Where are J receptors located and what is the results of the stimulation of J receptor?

(A) Located in alveoli and stimulation causes apnea

(B) Located in Bronchial mucosa and stimulation causes hyperpnea

(C) Located in Roof of the fourth ventricle and stimulation causes tachypnea

(D) Located in Pulmonary interstitium and stimulation causes bradycardia and hypotension

A quick contraction of the ipsilateral muscles elicited over the facial nerve at the angle of jaw is
known as

(A) Trousseau’s sign (B) Chvostek’s sign
(C) Murphy’s sign (D) Haldane effect

In a group of dwarfed children, the plasma growth hormone concentration is normal or elevated
but their growth hormone receptors are unresponsive as a result of loss of function/ mutation.
The resulting condition is known as-

(A) Laron Dwarfism (B) Achondroplasia

(C) Gonadal Dysgenesis (D) Myxedema

Which one of the following statement is wrong?

(A) A surge in LH secretion triggers ovulation

(B) The ovum lives for approximately 72 hours after it is extruded from the follicle
(C) Ovulation normally occurs about 48 hours after the peak of LH surge at midcycle
(D) Reliable indicator of the time of ovulation is a rise in basal body temperature

A rare condition is persistence of lactation (galactorrhea) and amenorrhea in women who do
not nurse after delivery. This condition is called:

(A) Chiari Frommel Syndrome (B) Achondroplasia

(O) Klinefelter Syndrome (D) Kasper Hauser Syndrome
Arunduttahas described “Eka Kala Dhatu Poshana Paksha” in which commentary?
(A) Ayurveda Deepika (B) Bhanumati

(C) NibandhaSangraha (D) Sarvangasundara

Which of the following is not correct in relation to gastrin Hormone?

(A) Gastrin secretion is increased by the presence of the products of protein digestion in the
stomach

(B) In pernicious anemia in which the acid secreting cells of the stomach are damaged, gastrin
secretion is decreased

(C) Three main fragments of gastrin contain 34, 17, and 14 amino acid residue

(D) Gastrins are inactivated primarily in the kidney and small intestine
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Hypervitaminosis A is characterized by

(A) Anorexia, headache, hepatosplenomegaly, scaly dermatitis, hyperostiosis, patchy loss of hair
(B) Weight loss, calcification of soft tissues, renal failure

(C) GIT disturbances and anemia

(D) Peripheral neuropathy

Achalasia is a condition in which

(A) Food accumulates in the stomach and organ becomes dilated

(B) Food accumulates in the oesophagus and organ becomes massively dilated

(C) Ulceration and stricture of the oesophagus takes place

(D) Intestinal motility increases

A disease characterized by abdominal distention, anorexia and lassitude, typically diagnosed in
infancy. It is due to congenital absence of ganglion cells in both the myenteric and submucous
plexus of a segment of a distal colon.

(A) Hirschsprung disease

(B) Aganglionic megacolon

(C) Both of the above A and B answers are correct
(D) None of the above answers are correct

The direct Fick method and the indicator dilution method are the methods used for the
measurement of-

(A) Clotting time (B) Cardiac output
(C) Venous return (D) Vital capacity
According to Ashtanga Hridaya, Avastambha is the function of

(A) Rakta (B) Mutra

(C) Sveda (D) Purisha

Which of the following is the mal of Rakta

(A) Kapha (B) Pitta

(C) Mutra (D) None of the above

TSt W G stfafadtoimT wrewet sifafast, According to Acharya Harita Which one

of the following Prakriti individuals have above mentioned features?

(A) Vata Prakriti (B) Pitta Prakriti

(C) Kapha Prakriti (D) Sama Prakriti
Which of the following is not mentioned under the varieties of Kapha:
(A) Sleshaka (B) Bhrajaka

(C) Bodhaka (D) Avalambaka
Snigdha, Guru, Sheeta, Sthira, Pichhilla are the qualities of:

(A) Kapha (B) Pitta

(C) Vata (D) All of the above

Which of the following Acharya has accepted Oja as the microscopic and unctuous part of
Shukra?

(A) Dalhana (B) Arundutta
(C) Chakrapani (D) Vijayarakshita
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The Power houses of the cell is

(A) Ribosomes (B) Endoplasmic Reticulum

(O) Golgi complex (D) Mitochondria

When a muscle contracts, work is performed and energy is required. Large amounts of ATP are

cleaved to form ADP during the contraction process; the greater the amount of work performed
by the muscle, the greater the amount of ATP that is cleaved. This is called the

(A) Fenn effect (B) Wolf chaikoff effect
(C) Windkessel effect (D) Bohr effect

Heat, sweating, stools, urine, three doshas, milk in women, semen and blood are considered as
ten places of cardinal significance by which of the following Acharya-

(A) Acharya Sharangadhar (B) Acharya Bhela

(C) Acharya Kashyapa (D) Acharya Arundutta
Measurement of Purisha according to Acharya Bhela is

(A) 7 anjali (B) 8 anjali

(C) 6 anjali (D) 5 anjali

FATET:, AT, THAT5a, ATAer:, Sfasitarsft, stfaaur, sifawamat, sftosmaia, According to Acharya

Bhela, These are the features of which of the following-

(A) Pitta Prakriti Individuals (B) Kapha Prakriti Individuals
(C) Sama Prakriti Individuals (D) Mazza Sara Individuals
Which of the following Dosh is located inHridaya?

(A) SadhakaPitta (B) Avalambakakapha

(C) Vyana Vayu (D) All the above

Passive movement of a substance down its concentration gradient through the lipid bilayer by
transmembrane proteins that function as channels or carriers is known as

(A) Simple diffusion (B) Facilitated diffusion

(C) Osmosis (D) Diffusion

Benign tumors of the chromaffin cells of the adrenal medulla, cause hypersecretion of epinephrine
and norepinephrine. The result is a prolonged version of the fight-or-flight response: rapid heart
rate, high blood pressure, high levels of glucose in blood and urine, an elevated basal metabolic

rate (BMR), flushed face, nervousness, sweating, and decreased gastrointestinal motility. This
condition is called called:

(A) Addison’s Disease (B) Pheochromocytoma
(O) Graves Disease (D) Cushing’s Syndrome

A special type of CNS ischemic response that results from increased pressure of the cerebrospinal
fluid around the brain in the cranial vaultis known as-

(A) Cushing Reaction (B) Vandenberg Reaction
(C) Hemosiderosis (D) Primary Aldosteronism

Hypertension also can result when the artery to only one kidney is constrictedwhile the artery to
the other kidney is normal. This hypertension is known as-

(A) Two-Kidney Goldblatt Hypertension (B) One Kidney Goldblatt Hypertension

(C) Hypertension in Preeclampsia (D) Neurogenic Hypertension
The resting coronary blood flow in the human being averages about —

(A) 225 mL/min (B) 125 mL/min

(C) 325 mL/min (D) 425 mL/min
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As a person grows older, the lens grows larger and thicker and becomes far less elastic, partly
because of progressive denaturation of the lens proteins. The ability of the lens to change shape
decreases with age. The power of accommodation decreases from about 14 diopters in a child to
less than 2 diopters by the time a person reaches 45 to 50 years; it then decreases to 0 diopters at
age 70 years and then the lens remains almost totally nonaccommodating, a condition known as-

(A) Astigmatism (B) Myopia

(C) Hyperopia (D) Presbyopia

Dysmetria, Ataxia, Past Pointing, Intention Tremor are the abnormalities of-

(A) Cerebrum (B) Cerebellum

(C) Hypothalamus (D) Pons

Bromosulphalein excretion and Hippuric acid excretion test is done-

(A) To assess the functions of pancreas (B) To assess the deoxicating power of liver
(C) To assess the Jaundice (D) To assess the Galactose index

Severe irritation of the mucosal lining of small intestine may cause-
(A) A stop in the propulsion of chyme

(B) Intestinal obstruction

(C) The chyme to move more slowly to reduce the irritation

(D) A “Peristaltic Rush” to quickly move the chyme in to the colon

Pump Handle movement and Bucket Handle movement of the ribs is associated in mechanism
of-

(A) Expiration (B) Inspiration
(C) Measurement of vital capacity (D) Regulation of heart rate

Type of Periodic Breathing in which there are 3-4 cycles of normal respiration followed by
abrupt onset of normal respiration is known as-

(A) Cheyne Stokes Breathing (B) Biot’s Breathing
(C) Sleep Apnea Syndrome (D) H-Reflex

The location of Prana Vayu according to Ashtanga Hridaya is:

(A) Nabhi (B) Uru

(C) Murdha (D) Basti

Acid- Pepsin mixture in the stomach acts on:

(A) Proteins (B) Carbohydrates
(C) Fats (D) None of the above

Muscle weakness is caused by antibodies against Ny; receptors in the neuromuscular junction
and thus decreasedavailability of Ach. This condition is known as-

(A) Myasthenia Gravis (B) Parkinsonism
(C) Lambert Eaton Syndrome (D) Bell’s Palsy

Contraction occurring when the ends of the muscle do not move i.e although muscle contracts
but length of the muscle remains the same and no external work is done.

(A) Isotonic contraction (B) Isometric contraction
(C) Tonic contraction (D) None of the above

X-linked disease in which dystrophin is absent from the muscles, it manifests as generalized
muscle disability and finally death due to involvement of the myocardium. This disease is known
as-

(A) Becker’s muscular dystrophy (B) Myotonia

(C) Duchene muscular dystrophy (D) Mc Ardle’s syndrome
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Deglutition reflex if abolished, causes-

(A) Bradycardia (B) Hypernoea

(C) Regurgitation of food in to nose (D) None of the above
Augmented histamine test, Insulin test, histamine test come under-

(A) Renal Function Test (B) Gastric Function Test
(C) Lung Function Test (D) Liver Function Test
In Hyperglycemic coma, the type of breathing is-

(A) Laboured Breathing (B) Kussmaul Breathing
(C) Cheyne Stroke Breathing (D) Biot’s Breathing

The minute cardiac output is:

(A) The product of heart rate and stroke volume

(B) The product of end systolic volume and heart rate

(C) The product of ejection fraction and stroke volume

(D) The product of mean arterial pressure and pulse pressure

Which one of the following factors affect the net rate of diffusion?

(A) Concentration difference on net diffusion through a membrane

(B) Membrane electrical potential on diffusion of ions

(C) Pressure difference across the membrane

(D) All of the above

According to Acharya Kashyapa, three types of psyche have been described to be born from-
(A) Virtue, anger and delusion (B) Happiness, sorrow and laziness
(C) Overactivity, sorrow and sleep (D) Laziness, overactivity and sleep

PrajapatyaSatva and YakshaSatva is only described by Acharya-

(A) Arundutta (B) Bhela

(C) Kashyapa (D) Dalhana

Normal resting heart rate in healthy adult individuals must be in between:
(A) 60 to 90 beats per minute (B) 50 to 120 beats per minute
(C) 60 to 140 beats per minute (D) 40 to 140 beats per minute

Among the normal functions of Vata, Charaka has mentioned Dhatugatiand Gatimatam. Acharya
Chakrapani has mentioned Dhatugati and Gatimatam respectively as:

(A) Transformation of Rasa etc. nutrient Dhatu and expulsion of feaces respectively
(B) Increase movement of Dhatu and Attainment of Moksha respectively

(C) Expulsion of feacesand Transformation of Rasa etc. nutrient Dhatu respectively
(D) All of the above
Normal locations of Vata, Pitta and Kapha in the body according to Ashtanga Hridaya are:

(A) Below the level of Nabhi, in between heart and Nabhi, and, above the level of heart —
respectively

(B) Above the level of Heart, in between heart and Nabhi, and, below the level of Nabhi —
respectively

(C) In the Nabhi, In the Heart and in the Head respectively
(D) None of the above
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A condition in which a normal metabolite from tyrosine appears in the urine, such urine darkens
when exposed to air and may turn almost black is known as-

(A) Phenylketonuria (B) Alkaptonuria

(C) Creatinuria (D) Pregnancy

High dose of iodide decreases the formation and release of thyroid hormone. This is called as-
(A) Goitre (B) Sheehan Syndrome

(C) Wolff—Chaikoff effect (D) Thyrotoxicosis

Which one of the following substances is not associated withcalcium metabolism?

(A) Parathyroid Hormone (B) Calcitonin

(O) 1,25 DHCC (D) Progesterone

Persons with a strong genetic predisposition to diabetes but who do not yet show any abnormality
of carbohydrate metabolism is known as-

(A) Latent diabetes (B) Potential diabetes
(C) Overt diabetes mellitus (D) Chemical diabetes

This condition is associated with absence of gonads. Sex chromatin test is negative, Karyotype
pattern is ‘XO’, having diminished sexual development of female type, dwarfism and webbing
of neck. The condition is called-

(A) Klinefelter’s Syndrome (B) Precocious puberty

(C) Turner’s Syndrome (D) Eunuchoidism

Spermiation means-

(A) Process by which sperms are destroyed

(B) Release of mature sperms from sertoli cells

(C) Conversion of spermatids to sperm

(D) Conversion of non-motile sperm in to motile sperm

Time of ovulation can be determined by-

(A) Recording the basal body temperature (B) Examination of the cervical mucus
(C) Endometrial biopsy (D) All of the above three methods
Which one of the following is not the cause of fetal hypoxia?

(A) Compression of umbilical cord (B) Premature separation of placenta
(C) Excessive contraction of uterus (D) Insufficient dose of anaesthesia to the mother
Which one of the following is a primary change in the circulation after birth?

(A) Doubles the systemic vascular resistance

(B) Closure of foramen ovale

(C) Closure of ductus venosus

(D) Marked increase in the volume of blood flowing up the inferior vena cava
Which one of the following is a anatomical classification of Synapse?

(A) Chemical (B) Electrical

(C) Conjoint (D) Type I and Type 11

Merckel’s discs and Meissner’s corpuscles are concerned with the perception of —

(A) Pressure (B) Touch

(C) Degree of warmth (D) None of the above

In the spinal cord fact that the dorsal roots are sensory and ventral roots are motor is called-
(A) All or none law (B) Bell- Magendie law

(C) Laplace law (D) Jendrassik’smanoeuvre
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In brain diseases which causes an increase in muscle tone, if it is associated with one group of
muscles?

(A) Rigidity (B) Spasticity

(C) Tabes dorsalis (D) None of the above three
The Book PurushaVichaya is written by-

(A) K. K. Pandey (B) J R Yadav

(O) V J Thakkar (D) Chakrapani
Hemisectionof the spinal cord causes-

(A) Mc Ardle Syndrome (B) Parkinsonism

(C) Syringomyelia (D) Brown Sequard Syndrome

A syndrome characterized by nystagmus, intention tremor andstaccato speech. It is seen in stages
of disseminated sclerosis and known as-

(A) Charcot’s Triad (B) Friedreich’s disease
(C) Hutchinson Triad (D) G B Syndrome

Inability to recognize objects by a particular sensory modality, even though the sensory modality
itself is intact is known as -

(A) Categorization (B) Agnosia

(C) Aphasia (D) Dysarthria
Thalassemia is also known as-

(A) Cooley’s anemia (B) Mediterranean anemia
(C) Both of the above (D) None of the above

In children hemolysed sickle cells aggregate and block the blood vessels leading to infarction.
This infarction is common in small bones, results in varying length of digits and known as-

(A) Thalassemia (B) Hand and foot syndrome
(C) Addison’s anemia (D) Megaloblastic Anamia
Which one of the following is not an autoimmune disease?

(A) Myasthenia Gravis (B) Hashimoto’s thyroiditis
(O) Graves disease (D) Parkinsonism

Who established that the extrinsic factor is Vitamin B12?

(A) Richard Minot in 1920 (B) Dorothy Hodgkin in 1973
(C) Smith Parker in 1940 (D) Thomas Addison in 1960
Carotid body and Aortic body constitute the —

(A) Central Chemoreceptor (B) Peripheral Chemoreceptors
(C) Medulla Oblongata (D) Pons

Which one of the following is the synonym of Meda dhatu?

(A) Kravya (B) Mamsateja

(C) Kaushika (D) Palala

Kapha is a Mala of:

(A) Rakta Dhatu (B) Rasa Dhatu

(C) Meda Dhatu (D) Mamsa Dhatu
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